
SS–31–Bus. Studies (D&D)No. of Questions – 22
No. of Printed Pages – 11

Cƒ _mÜ`{_H$ (‘yH$-~{Ya) (CWSN) narjm, 2024
SENIOR SECONDARY (D&D) (CWSN)

EXAMINATION, 2024

ì¶dgm¶ AÜ¶¶Z
BUSINESS STUDIES

g_` : 4 KÊQ>o 15 {‘{ZQ>
nyUmªH$ : 80

narjm{W©`m| Ho$ {bE gm_mÝ` {ZX}e …narjm{W©`m| Ho$ {bE gm_mÝ` {ZX}e …narjm{W©`m| Ho$ {bE gm_mÝ` {ZX}e …narjm{W©`m| Ho$ {bE gm_mÝ` {ZX}e …narjm{W©`m| Ho$ {bE gm_mÝ` {ZX}e …
GENERAL INSTRUCTIONS TO THE EXAMINEES :

1) narjmWu gd©àW_ AnZo àíZ nÌ na AnZm Zm_m§H$ A{Zdm ©̀V… {bI|&

Candidate must write first his / her Roll No. on the question paper.

2) g^rg^rg^rg^rg^r àíZ A{Zdm ©̀ h¢&

All the questions are compulsory.

3) àË òH$ àíZ H$m CÎma Xr JB© CÎma-nwpñVH$m _| hr {bI|&

Write the answer to each question in the given answer-book only.
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4) {OZ àíZmo§ _| AmÝV[aH$ IÊS> h¡§, CZ g^r Ho$ CÎma EH$ gmW hr {bI|&

For questions having more than one part, the answers to those parts are to be
written together in continuity.

5) àíZ H$m CÎma {bIZo go nyd© àíZ H$m H«$‘m§H$ Adí¶ {bI|&

Write down the serial number of the question before attempting it.

6) àíZ nÌ Ho$ {hÝXr d A§J«oOr ê$nmÝVaU _o| {H$gr àH$ma H$s Ìw{Q> / AÝVa / {damoYm^mg hmoZo na {hÝXr ^mfm
Ho$ àíZ H$mo hr ghr _mZ|&

If there is any kind of error / difference / contradiction in the Hindi & English
versions of the question paper, the question of Hindi version should be treated
valid.
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IÊS> - A

SECTION - A

~hþ{dH$ënr àíZ (i go xv):

Multiple Choice Questions (i to xv) :

1) {ZåZ àíZm| Ho$ CÎma H$m ghr {dH$ën M¶Z H$a CÎma nwpñVH$m ‘| {b{IE :

Choose the correct option and write in given answer-book :

i) g§JR>Z à{H«$¶m H$m ApÝV‘ H$X‘ h¡ - [1]

A) H$V©ì¶m| H$m {ZYm©aU ~) {d^mJrH$aU

g) [anmo{Q>ªJ X) H$m¶© H$s nhMmZ d {d^mOZ

The final step of organising process is -

A) Assignment of duties B) Departmentalisation

C) Reporting D) Identification & Division of work

ii) {dÎmr¶ àmoËgmhZ H$m CXmhaU h¡ - [1]

A) ~moZg ~) g§JR>{ZH$ dmVmdaU

g) nXà{Vð>m X) nX gwajm

An example of financial incentive is -

A) Bonus B) Organisational Climate

C) Status D) Job Security

iii) {dnUZ {‘l Ho$ KQ>H$ "CËnmX' ‘| gpå‘{bV h¢ - [1]

A) ‘yë¶ ñVa ~) {dkmnZ

g) {dH«$¶ àdV©Z X) ~«mpÊS>¨J

The element of marketing mix are involved in 'product'-

A) Price level B) Advertisment

C) Sales Promotion D) Branding

[ Turn Over
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iv) hoZar ’o$¶mob Ho$ à~ÝY Ho$ {gÕmÝV h¢ - [1]
A) VrZ ~) ½¶mah
g) Mm¡Xh X) AmR>
Henry Fayol's principles of management are -

A) Three B) Eleven

C) Fourteen D) Eight

v) Am¡Úmo{JH$ CËnmXm| H$mo ‘w»¶ ê$n go .............. lo{U¶m| ‘| dJuH¥$V {H$¶m Om gH$Vm h¢ - [1]
A) VrZ ~) Mma
g) Xmo X) nm±M
The industrial goods may be classified into ______ major categories-

A) Three B) Four

C) Two D) Five

vi) H$‘©Mmar d à~ÝY Ho$ EH$ Xÿgao Ho$ à{V ì¶dhma n[adV©Z H$mo H$hVo h¡ - [1]
A) ‘mZ{gH$ H«$mpÝV ~) AÀN>o Am¡Úmo{JH$ gå~ÝY
g) àOmVm§{ÌH$ à~ÝY X) ì¶mdhm[aH$ nj na ~b
The change in behaviour of employees and management toward each other is
called -

A) Mental revolution B) Good industrial relations

C) Democratic management D) Stress on practical aspect

vii) à{ejU H$s "Am°’$ X Om°~' {d{Y h¡ - [1]
A) {ejU ~) à{ejUmWu H$m¶©H«$‘
g) H$m¶© ~Xbr X) Mb{MÌ
Off the job method of training is -

A) Coaching B) Apprenticeship Programme

C) Job Rotation D) Film

viii) ............ ŷVnyd© {H«$¶mAm| H$m ed n[ajU (nmoñQ> ‘mQ>©‘) h¡ - [1]
A) {Z¶w{º$H$aU ~) {Z¶moOZ
g) g§JR>Z X) {Z¶ÝÌU
______ is like a post mortem of past activities -

A) staffing B) planning

C) organisation D) control
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ix) H$m¡Zgm A{YH$ma Cn^moº$mAm| H$mo CËnmX Ho$ ~mao ‘| OmZH$mar XoVm h¡, {Ogo dh IarXZm MmhVm h¡ -[1]

A) gy{MV {H$E OmZo H$m A{YH$ma ~) {ZdmaU nmZo H$m A{YH$ma
g) gwZdmB© H$m A{YH$ma X) gwajm H$m A{YH$ma
Which right gives consumer information about the product, they want to buy -

A) Right to information B) Right to seek redressal

C) Right to heard D) Right to Safety

x) à~ÝY EH$ O{Q>b à{H«$¶m h¡ {OgHo$ ........... à‘wI n[aUm‘ h¡ - [1]

A) Xmo ~) VrZ
g) Mma X) nm±M
Management is a complex activity that has _________ main dimensions-

A) Two B) Three

C) Four D) Five

xi) A{^àoaUm à{H«$¶m H$m {ÛVr¶ MaU h¡ - [1]

A) AmdoJ ~) VZmd
g) VZmd ‘| H$‘r X) Amdí¶H$Vm gÝVw{ï>
The second step of motivation process is -

A) Drives B) Tension

C) Reduction of tension D) Satisfied needs

xii) {Z¶moOZ ‘| {Z¶‘ ³¶m ~VbmVo h¡ - [1]

A) ³¶m H$aZm h¡? ~) H$~ H$aZm h¡?
g) ³¶m| H$aZm h¡? X) H¡$go H$aZm h¡?
What do the rules inform the planning -

A) What to do? B) When to do?

C) Why to do? D) How to do?

xiii) dh g§JR>Z T>m§Mm {OgHo$ g§MmbZ ‘| CËnmX {d{eï>rH$aU H$s Amdí¶H$Vm h¡ - [1]
A) Am¡nMm[aH$ g§JR>Z ~) AZm¡nMm[aH$ g§JR>Z
g) H$m¶m©Ë‘H$ g§JR>Z X) à^mJr¶ g§JR>Z
The organizational structure which required product specilisation -

A) Formal organisation B) Informal organisation

C) Functional organisation D) Divisional organisation

[ Turn Over
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xiv) à^mdr gåàofU H$s ì¶{º$JV ~mYm h¡ - [1]

A) g§JR>{ZH$ Zr{V ~) Añnï> g§H$ënZmE±
g) gåàofU ‘| A{ZÀN>m X) Agm‘{¶H$ ‘yë¶m§H$Z
Personal barriers of effective communication is -
A) Organisational policy B) Unclarified assumptions
C) Unwillingness to communication D) Premature evaluation

xv) {Z¶moOZ à{H«$¶m H$m ApÝV‘ MaU h¡ - [1]

A) AZwdV©Z ~) {dH$mgerb AmYma
g) {dH$ënm| H$m M¶Z X) ¶moOZm H$mo bmJy H$aZm
The final step of planning process is -
A) Follow up action B) Developing premises
C) Evaluating alternative courses D) Implementing the plan

2) [aº$ ñWmZm| H$s ny{V© H$s{OE (i go vii) :
Fill in the blanks (i to vii) :

i) {~Obr Ho$ gm‘mZm| na .............. H$mo XoI|& [1]

Look ________ on electrical goods.

ii) {gÕmÝV, H$m¶© Ho$ {bE .............. H$m H$m¶© H$aVo h¢& [1]

Principles are ________ to action.

iii) M¶Z EH$ .............. à{H«$¶m h¡& [1]

Selection is a ________ process.

iv) .............. {H«$¶m H$mo àmaå^ H$aVr h¡& [1]

________ initiates action.

v) Cn^moº$m g§ajU A{Y{Z¶‘ Ho$ VhV Cn^moº$mAm| H$s {eH$m¶Vm| H$m {ZdmaU .............. àdV©Z
‘erZar Ûmam {H$¶m OmVm h¡& [1]

Consumer grivences are redressed by the ________ tire machinery.

vi) .............. EH$ AmÝV[aH$ AZw^d h¡& [1]

________ is an internal feelings.

vii) {Z¶moOZ .............. H$s ì¶dñWm H$aVm h¡& [1]

Planning provides ________.
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3) A{V bKwÎmamË‘H$ àíZ (i go x) :

Very Short Answer Questions (i to x) :

i) ‘yë¶ ³¶m h¡? [1]

What is price?

ii) {Z¶w{º$H$aU H$m Ame¶ ñnï> H$s{OE& [1]

Clarify the meaning of staffing.

iii) "à~ÝY EH$ CÔoí¶ nyU© à{H«$¶m h¡'& H¡$go? [1]

Management is a goal oriented process. How?

iv) CËnmX H$m AW© ~VmBE& [1]

Mention the meaning of Product.

v) EH$ à~ÝYH$ Ho$ ê$n ‘|, A{YH$ma AÝVaU Ed§ {dHo$ÝÐrH$aU ‘| àH¥${V Ho$ AmYma na AÝVa H$s{OE&[1]

As a manager differenciate between delegation and decentralisation on the
basis of 'nature'.

vi) n¡Ho$qOJ ³¶m| ‘hËdnyU© h¢? EH$ {~ÝXþ {b{IE& [1]

Why packaging is important? Write one point.

vii) {dHo$ÝÐrH$aU H$m ³¶m AW© h¡? [1]

What is the meaning of decentralisation?

viii) "n¶©dojH$, à~ÝY VWm l{‘H$m| Ho$ ‘Ü¶ EH$ H$‹S>r Ho$ ê$n ‘| H$m¶© H$aVm h¡&' H¡$go? [1]

'Supervisor, acts as a link between workers and management.' How?

ix) "H¡${dQ> EånQ>a' ³¶m h¡? [1]

What is 'Coveat emptor'?

x) {dHo$ÝÐrH$aU go erK« {ZU©¶ {bE Om gH$Vo h¡, ³¶m Amn Bggo gh‘V h¡, ¶{X hm± Vmo ³¶m|? [1]

Decision can be takes quickly in decentralisation. Do you agree with this,
'if yes', why?

[ Turn Over
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IÊS> - ~
SECTION - B

bKwÎmamË‘H$ àíZ - (4 go 15)
Short Answer Questions - (4 to 15)

4) AmnH$s am¶ ‘| {Z¶ÝÌU ³¶m h¡? g‘PmBE& [2]

In your opinion, what is control? Explain.

5) {dnUZ Ho$ {H$Ýht Xmo H$m¶m] H$mo g‘PmBE& [2]

Explain any two functions of marketing.

6) "amÁ¶ Am¶moJ' H$mo g‘PmBE& [2]

Explain the 'State Commission'.

7) à~ÝY Ho$ {H$Ýht Xmo g§JR>ZmË‘H$ CÔoí¶m| H$mo g‘PmBE& [2]

Explain any two organisational objective of management.

8) Am¡Úmo{JH$ nXmW© Ho$ AÝVJ©V Amny{V© Ed§ ì¶mdgm{¶H$ godmAm| H$mo MmQ>© Ûmam àX{e©V H$s{OE& [2]

Show the suppliers and business services in industrial goods by the chart.

9) {Z¶ÝÌU Ho$ H$moB© Xmo ‘hËd {b{IE& [2]

Write any two importance of control.

10) Cn^moº$m g§ajU A{Y{Z¶‘ 2019 {H$g àH$ma Ho$ ì¶dgm¶m| na bmJy hmoVm h¡? [2]

What type of business does the consumer protection act 2019 apply to?

11) AmnH$s am¶ ‘| Cƒ ñVar¶ à~ÝY ³¶m h¡? [2]

In your opinion, what is the top level management?
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12) A§JyarbVm gåàofU Ho$ {ZåZ VÝÌm| H$mo MmQ>© Ûmam àX{e©V H$s{OE - [2]

A) BH$har l¥§Ibm ~) Jnen/A’$dmh|
Show the following network of grapvine communication through a chart -

a) Single Strand b) Gossip

13) Mmby gån{Îm¶m| H$m AW© ñnï> H$aVo hþE, Xmo CXmhaU Xr{OE& [2]

Explain the meaning of current assets, give two example.

14) ~mOma CËnmX H$m ³¶m AW© h¡? [2]

What is the meaning of market product?

15) Mmby Xm{¶Ëdmo H$m AW© ñnï> H$aVo hþE Xmo CXmhaU Xr{OE& [2]

Explain the meaning of current liabilities, give two example.

IÊS> - g
SECTION - C

XrK© CÎmar¶ àíZ -
Long Answer Questions -

16) CXmarH$aU H$m ³¶m AW© h¡? g‘PmBE& [3]

What is the meaning of 'Liberalisation'? Explain.

AWdm/OR

d¡ídrH$aU H$m ³¶m AW© h¡? g‘PmBE&
What is the meaning of Globalisation? Explain.

17) EH$ à~ÝYH$ Ho$ ê$n ‘|, {Z¶moOZ H$s {H$Ýht VrZ gr‘mAm| H$mo g‘PmBE& [3]

As a manager, explain any three limitations of Planning.

AWdm/OR

EH$ à~ÝYH$ Ho$ ê$n ‘|, {Z¶moOZ à{H«$¶m Ho$ ApÝV‘ VrZ MaUm| H$mo g‘PmBE&
As a manager, explain the last three steps of Planning Process.

[ Turn Over
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18) AmnH$s am¶ ‘|, ny§Or g§aMZm H$mo à^m{dV H$aZo dmbo {H$Ýht VrZ {~ÝXþAm| H$mo g‘PmBE& [3]

In your opinion, explain any three factors affecting the capital structure.

AWdm/OR

AmnH$s am¶ ‘|, ñWmB© ny§Or H$s Amdí¶H$Vm H$mo à^m{dV H$aZo dmbo {H$Ýht VrZ H$maH$m| H$mo g‘PmBE&

In your opinion, explain any three factors affecting the fixed capital required.

19) AmnHo$ Ñ{ï>H$moU go, A{YH$ma d CÎmaXm{¶Ëd ‘| H$moB© VrZ AÝVa ~VmBE& [3]

In your point of view, mention any three differences between authority and
responsibility.

AWdm/OR

AmnHo$ Ñ{ï>H$moU go, H$m¶m©Ë‘H$ g§JR>Z d à^mJr¶ g§JR>Z ‘| H$moB© VrZ AÝVa ~VmBE&

In your point of view, mention any three differences between functional organisation
and departmental organisation.

IÊS -> X
SECTION - D

{Z~ÝYmË‘H$ àíZ - (200 eãX)

Essay Type Questions - (200 words)

20) {dÎmr¶ {Z¶moOZ H$m ³¶m ‘hËd h¡? (H$moB© Mma {~ÝXþ) [4]

What is the importance of financial planning? (any four points)

AWdm/OR

n§yOr ~OqQ>J {ZU©¶ H$m ³¶m ‘hËd h¡? (H$moB© Mma {~ÝXþ)

What is the importance of capital budgeting decision? (any four points)
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21) EH$ {Z¶moº$m Ho$ ê$n ‘|, {Z¶w{º$H$aU à{H«$¶m Ho$ àW‘ Mma MaUm| H$mo ñnï> H$s{OE& [4]

As a employer, explain the first four steps of staffing process.

AWdm/OR

AmnHo$ {dMma go, à{ejU d {dH$mg go H$‘©Mm[a¶m| H$mo ³¶m bm^ h¡? g‘PmBE&

In your views, what are the benefits of employees from training and development?
Explain.

22) à~ÝY ‘| "nhb j‘Vm' Ho$ {gÕmÝV H$m dU©Z H$s{OE& [4]

Describe the principle of 'initiative' in management.

AWdm/OR

à~ÝY ‘| AmXoe H$s EH$Vm Ho$ {gÕmÝV H$m dU©Z H$s{OE&

Describe the principle 'Unity of Command' in management.


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